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Question No. 23

I'he coefficient of friction is always

dimensionless
more than 1
iess than 1

negative
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Question No. 5

The friction force always acts in a direction

Same as the direction of weight

normal to the Surface

Opposite to

the GlreCIlOﬂ of motion
>sdme as the dlfe‘fflOﬂ of Mmotion
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Question No. 3

A car is moving with 100 kmv/h ¢

or 30 min
100 Km/h for two nours. The average speed for this journey is appr
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Question No. §

In the Celsius tlemperature scale, the absolute 2« 1S al
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Question No. 1

During change of phase of a substance, its temperature

changes rapidly
decreases

ncreases

/rcmams constant
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| Question No. 2

' Atemperalure of 150 *C equals

302 °F
@ 320 °F
@ 203 °F
@ 220 °F
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Question No. 20 7 N

The kinetic energy (KE) of 2 1.5 ton car ttavélng at
——

a Speed of 30 m/s can be obtaned usng the following equation(s)

1. P=PE/t | 2 E=<PE+KE | 3 p-wh

4. lton=1000kg 5. KE = :"lv: 6. 1 nvs .96 kmvh
©35and 6
D 2and 6
O 1and 2

O d4and 5




Question No. 3
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Question No Y

[\% d vase IS ‘}j; ing COWT fre

potential and kinetic ens
‘)‘)’J'Hfl.ﬂ energy increase
Kineti energy decrease
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Question No. 22

The unit of the coefficient of friction is

m/s/s
newton
Newton/s
has no units



Question Mo 23

i3

The newion (N) ia 1t

kKams
KQ m/s/s
Kg m/s
KQ s/m




Question No 24

As an object is freely fa

Zero
smaller than the initial

maximum speed dunng

same as the initial speed
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Question Mo 21

The kinetic energy of a 2-k
(becomes three times
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Question No 19

A 1500-kg car with kinet A( S apDr
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yestion No. J

{ a rock 1alts from a bakcony and hn
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Question No &

If no net ‘M,'r 2 actie v

Pythagoras principh
Newton's first law
Newton's second lav
Newton's third law
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- Which of the following is not a unit for the amount of heat:




If a car's average speed
dlStaﬂ(J: ” covers
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Question No 9
For a moving car if the forwara force of s engme s 10000 N ar resistance on s S000 N and the of rction on it s 4000 N the « ar wih

have zero acceteration

have changmng accelerat
Slow down

accederate forwarg



a3
raam 28 | Avweerea
v

Total Querstaens

_ L™ 'Cl)
\.AJA‘f

v e Wil | :

B




1"’0”-

“mm,

A arge steved wWrechkang bad
W. The mass of 1

- Uusing a POWer of 3000

/ 240 kQ

\{\__., T

'.\L.'s;.;

<00 kg '_k : 20

A P:jaﬂ

NSRI0 K3
3000 = 90




@ 80 ag P: LOO

T
- LY




question No- §
sl Dave

opgect that has smat e

@ small mass
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{} Question No. 23 BN
AT are the:

Temperature scales that give the same temperature di

’ @ Kelvin and Celsius

- @ Celsius and Joule

@ Fahrenheit and Keivin
@ Celsius and Fahrenheft




For non-freely falling objects. terminal velocity means

O Zero acceleration
O sSmall mass
~ DI mass

Zero velocity
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Question No. 2

AS an obyect s freely fTaling s acceleration s

ncreasng
2e10

posfiive and constant
decreasng
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Question No_ 14

i with a force £ 1. the handgun recolls (=) with a

the same deechion

rpendcular
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Question No. 25 ﬁ\

The power needed to speed up a 1500-kg car from zero km/h to 108 km/h in 10 seconds is

= D
o 67.5 KW \[ (0
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